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[image: image1.png]. In The Lady or the Tiger, " Her soul burned in agony as she saw him rush to that

woman and then be wedded in the next moment. " The underlined phrase means

A. in great suffering B. in great anger

C. in great excitement D. in great disappointment

In Jane Eyre, it was ___ who helped clear Jane of the charges against her.
A. Miss Miller B. Miss Temple

C. Mr. Lloyd D. Mr. Brocklehurst

Aesop wrote many ____ about animals that talked and acted like humans.
A. myths B. novels

C. fables D. fairy stories

In The Celebrated Jumping Frog of Calaveras County, while Smiley went off to
find a suitable opponent for a jumping contest, the stranger who bet with Smiley
took the frog out of the box and .

A. let it go B. glued it to the floor

C. fed it some water D. fed it some whiskey

According to Bringing up Children, an adults character is in a great measure
decided by ___ .

A. his childhood experiences B. his adults experiences

C. his parents and friends D. his school as well as society

10. In New Applications, Miriam tampered with the computers program so that she

11.

could

A. improve the efficiency of her work

B. learn the knowledge about computer conveniently

C. transfer funds

D. sell more computers

In Art for Hearts Sake, Dr. Caswell gave old Ellsworth a suggestion of taking
up art to ___.

A. make him wealthy

B. take his mind off his problem and redirect his energies

C. make him busy

D. take him away from his loneliness
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Directions : The following unfinished statements or questions are based on the

texts you have learned. For each of them, 4 suggested answers marked A, B,

C and D are given. Choose the one that you think best completes the statement

or answers the question and then write your answers on the Answer Sheet.

1.

In Gifis of the Magt, the two gifts Jim and Della bought for each other are .
A. a comb and a watch

B. a comb and a watch - chain

C. a set of combs and a watch

D. a set of combs and a watch — chain

In The Necklace, in the end Mme. Forestier said " Oh, my poor Mathilde!

Why, my necklace was paste. It was worth at most five hundred francs!" The

underlined sentence means that

A. my necklace was expensive

B. my necklace was out of fashion

C. my necklace was not made of real diamonds

D. my necklace was bought in the past

How did Lisabetta learn that her lover, Lorenzo, had been killed by her
brothers?

A. Her brothers told her. B. Her servant told her.

C. Lorenzo told her in her dream. D. Her neighbors told her.

The Canterbury Tales was written by .

~A. G. Boccaccio B. Geoffrey Chaucer

C. William Shakespeare D. Guy de Maupassant
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13.

14.

15.

16.

17.

don”t spend much money on houses, cars, vacations and entertainment
because .

A. they think these things are too expensive

B. they think these things are useless

C. they don“t think they can live below their means

D. they think these things offer little in return

According to How George, Once upon a Time, Got up Early in the Morning,
George’s watch went wrong one evening and stopped at a quarter past eight
because . .

A. he hung it up over his pillow without ever looking at it

B. he forgot to wind it up when he went to bed

C. he flung it down on the bed

'D. he had a cold bath with it on his wrist

In Rip Van Winkle, how did Rip react to the news of his wifes death?

A. There was a bit of comfort in him. B. There was a bit of grief in him.

C. He was angry. D. He was scared.

Based on the passage Helen Keller, Helen Keller learned to spell by .
A. imitating what her teacher wrote on her hand

B. recognizing words shown to her by her teacher

C. listening to her teacher spelling words and repeating the spellings

D. playing with toys and spelling the letters

In True Love, Joe is

A. a computer B. a programmer

C. a librarian D. a psychologist

According to The Constitution of the United States, all legislative power granted
by the Constitution is given to ____; the executive power is given to ___;
and the judicial power is given to __

A. the President; Congress; the Supreme Court and other federal courts

B. the Supreme Court and other federal courts; Congress; the President

C. Congress; the President; the Supreme Court and other federal courts

D. Congress; the Supreme Court; other federal courts
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Second World War was that it hastened the dissolution of .

A. the House of Lords B. the House of Commons
C. the British Commonwealth D. the British Empire
19. According to The Merchant of Venice, the casket of contained an image or

likeness of Portia.
A. gold B. silver
C. lead D. copper
20. According o Stories from Greek Myths, Zeus felt displeased with Prometheus”
favor towards men; so when Prometheus managed to ____, Zeus burst out into
uncontrollable rage. |
A. steal fire from heaven and bring it down to men
B. teach men how to make music and how to paint
C. help men make tools
D. teach men how to plant and grow their own food
II. Reading Comprehension. (40 points, 2 points each)
Directions . In this part there are 4 reading passages followed by 20 questions or
unfinished statements. For each of them there are 4 choices marked A, B, C
and D. Decide on the best answer or the best choice to complete the statement
and then write your answers on the Answer Sheet.

Passage 1

Before the 1930%, workers were only paid as long as they were " smart". If they
were smart enough not to be ill, they were paid. If they were smart enough not to
be injured, they were paid. And if they were very smart, they would find strength
to work every day until they died. When people were not so " smart" , they looked
for help. Their families, private charities (Z&3 HF]{&), and churches did what
they could. All of these groups helped when the economy was healthy.

When the Depression hit, families, charities, and churches were weakened. And
there was more need of them than ever before. Pat Cauley, a construction worker,

kept a diary. Here is an entry from 1932. " Went to church. I said the family




[image: image4.png]needed something to keep going. Got nice sermon. Came home, pockets empty. "
Cauley$ story was told by millions of others. Even when charities did help, people
were not completely happy. People on soup lines did not starve. But their pride
went hungry.

In 1933, Democrat Franklin Roosevelt became president. He said government
should replace charities. Since people paid for government, government support
was not charity. Government support was peoples tax money at work. People could
feel they deserved government support.

In 1935, Roosevelt signed the Social Security Act. The Social Security Act
provided money for the elderly, the blind, and the handicapped. Workers
benefited, too. Workers who were ill or injured were to receive money. Families
were to receive assistance when working fathers died. People laid off from work

were to be helped until they found new jobs.

21. The passage implies that Pat Cauley wanted from his church.
A. a prayer B. a sermon
C. construction work - D. money

22, Which of the following statements about Social Security is supported by the
passage?
A. Healthy, employed workers would receive Social Security.
B. When unemployed workers found jobs, they would pay taxes for Social
Security.
C. People prefer charity to Social Security.

D. Social Security is paid for by private charities, families and churches.
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24.

25.

Which of the following would be the best title for the passage?
A. Before Social Security

B. Families and Private Charities

C. Peoples Tax Money at Work

D. Pat Cauley, Construction Worker

From the information in the passage, you can conclude that workers before
1935 were .

A. healthier than today$ workers

B. worse off than today$ workers

C. smarter than today$ workers

D. more religious than todays workers

As it is used in the passage, the phrase " laid off" ( paragraph 4) means

A. dismissed temporarily B. sent away by force
C. got free : D. had their leave
Passage 2

For more than a century, the two major parties in America have been the

Democratic and the Republican parties. But from time to time, other parties have

been created. A new party is formed when a group of people is not happy with the

two major parties. This party is called a " third party" .

One example of a third party is the Populist Party. In the 18807 and 1890 %,

farmers were not satisfied with the two major parties. Farmers were not making

much money. They called for an inflation of the currency. This means making more

money available to the people. They were also unhappy about the railroads.

Railroads charged high prices for shipping their goods. Farmers wanted government
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In 1892, farmers from all over the country met. They formed a third party called
the Peoples Party, or the Populist Party. The members of the party drew up a list
of goals. These goals included government ownership of all transportation and
communication systems and the inflation of the currency. The party also tried to get
support from workers in the cities. It called for an eight — hour workday.
In 1892, the Populist Party ran James Baird Weaver for president. Baird did not
win the election. However, he received many votes — more than one million.
Many other Populist candidates did win their elections. They were elected
governors, senators and congressmen.
In 1896, the Populist Party did not run a candidate for president. It supported the
Democratic candidate, William Jennings Bryan. Gradually, most members left the
Populist Party to join the Democratic Party. The Populist Party was not strong
enough to survive. But it is an example of how a need for change can result in the
creation of a new party.
26. The central idea of the passage is that third parties are formed when .

A. a group of people is unhappy with the two major parties

B. the two parties are not strong enough to survive

C. people are not making enough money

D. unemployment is high
27. According to the passage, the farmers were dissatisfied with the two major

parties because the Democrats and Republicans

A. wanted the government to own the railroads

B. called for an inflation of the currency
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29.

30.

C. did not agree with the farmers’ goals

D. charged high prices for shipping goods

As it is used in the second paragraph of the passage, the word " currency"

means ___

A. the state of being in common use or general acceptance

B. a general tendency or course of movement of events

C. a piece of metal, usually flat and round, made by a government for use as
money

D. money system in use in a country

According to the passage, all of the following were the farmers”goals EXCEPT

A. an eight — hour workday

B. reduced unemployment

C. government control of the communication systems

D. inflation of the currency

According to the passage, most people left the Populist Party to join .

A. the Democratic Party B. the Republican Party
C. the Peoples Party D. another third party
Passage 3

If women are mercilessly exploited year after year, they have only themselves to

blame. Because they tremble at the thought of being seen in public in clothes that

are out of fashion; they are always taken advantage of by the designers and the big

stores. Clothes which have been worn only a few times have to be put aside

because of the change of fashion. When you come to think of it, only a woman is




[image: image8.png]capable of standing in front of a wardrobe packed full of clothes and announcing
sadly that she has nothing to wear.
Changing fashion is nothing more than the intentional creation of waste. Many
women spend vast sums of money each year to replace clothes that have hardly
been worn. Women who cannot afford to throw away clothing in this way, waste
hours of their time altering the dresses they have. Skirts are lengthened or
shortened ; necklines are lowered or raised, and so on.
No one can claim that the fashion industry contributes anything really important to
society. Fashion designers are rarely concerned with vital things like warmth,
comfort and durability. They are only inierested in outward appearance and they
take advantage of the fact that women will pul up with any amount of discomfort, as
long as they look right. There can hardly be a man who hasn’t at sometime in his
life smiled at the sight of a woman shaking in a thin dress on a winter day, or
delicately picking her way through deep snow in high — heeled shoes.
When comparing men and women in the matter of fashion, the conclusions to be
drawn are obvious. Do the constantly changing fashions of womens clothes, one
wonders, reflect basic qualities of inconstancy and instability? Men are too clever
to let themselves be cheated by fashion designers. Do their unchanging styles of
dress reflect basic qualities of stability and reliability? That is for you to decide.
31. Designers and big stores always make money __ .

A. by mercilessly exploiting women workers in the clothing industry

B. because they are capable of predicting new fashions

C. by constantly changing the fashion in womens clothing

D. because they attach great importance to quality in women% clothing
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33.

34.

35.

A. a waste of money B. a waste of time

C. an expression of taste D. an expression of creativity

The writer would be less critical if fashion designers placed more stress on the

__ of clothing.

A. cost B. appearance

C. comfort D. suitability

According to the passage, which of the following statements is true?

A. New fashions in clothing are created for the commercial exploitation of
woman.

B. The constant changes in women$ clothing reflect their strength of character.

C. The fashion industry makes an important contribution to society.

D. Fashion designs should not be encouraged since they are only welcomed by
women.

By saying " the conclusions to be drawn are obvious", the writer means that

A. women$ inconstancy in their choice of clothing is often laughed at

B. women are better able to put up with discomfort

C. men are also exploited greatly by fashion designers

D. men are more stable and reliable in character

Passage 4

Fatherhood is going to have a different meaning and bring forth a different response

from every man who hears this word. Some feel pride when they receive the news,
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are some men who like children and may have had considerable experience with
them, others do not particularly care for children and spend little time with them.
Many fathers and mothers have been planning and looking forward to children for
some time. For other couples, pregnancy was an accident that both husband and
wife have accepted willingly or unwillingly.
No matter what the reaction to the birth of a child is, it is obvious that the shift
from the role of husband to that of father is a difficult task. Yet, unfortunately, few
attempts have been made to educate fathers in this resocialization process.
Although numerous books have been written about American mothers, only recently
has literature focused on the role of a father.
It is argued by some writers that the transition to the father s role, although
difficult, is not nearly as great as the transition the wife must make to the mothers
role. The mothers role seems to require a complete transformation in daily routine
and highly innovative adaptation. On the other hand, the father’s role is less
demanding and immediate. However, even though we mentioned the fact that
growing numbers of women are working outside the home, the father is still thought
by many as the breadwinner in the household.
36. According to the author, being a father .

A. brings a feeling of excitement to some men

B. has a different meaning for those who have daughters

C. makes some men feel proud and others uneasy

D. means nothing but more responsibilities
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38.

39.

40.

It is stated in the passage that .

A. some parents are not prepared to have a child

B. young couples do not like children at all

C. working couples do not have much time to take care of their children

D. many parents look forward to having a boy as their first child

In the second paragraph, the author .

A. criticizes fathers for not taking enough responsibilities in bringing up their
children

B. excuses the American writers for ignoring the difficulties of being a father

C. supports the idea that the chief role of a father is to earn money for the
famjly

D. complains about the lack of social programs to help husbands adjust
themselves to being a father

The transition to the mothers role requires that the wife

A. change her life style in a highly innovative way

B. make a complete change in her everyday life to deal with the new situation

C. stay at home to take care of the baby

D. help her husband in his resocialization process

Some writers argue that with respect to the change of role, fathers, compared

with mothers,

A. have to shoulder more burdens

B. have to make more difficult adaptations

C. have an easier job to do

D. can usually do a better job
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Directions : In this part there are 3 reading passages followed by 10 questions or
unfinished statements. For each of them there are 4 choices marked A , B, C
and D. Skim or scan the passage and decide on the best answer; then write
your answers on the Answer Sheet.

Passage 1

Washington Irving was America’s first man of letters to be known internationally.
His works were received enthusiastically both in England and in the United States.
He was, in fact, one of the most successful writers of his time in either country,
delighting a large general public and at the same time winning the admiration of
fellow writers like Scott in Britain and Poe and Hawthorne in the United States.
The respect in which he was held was partly owing to the man himself, with his
warm friendliness, his good sense, his urbanity ( SCHE ), his gay spirits, his
artistic integrity, his love of both Old World and the New. Thackeray described

" a gentleman, who, though himself born in no very high sphere, was

Irving as
‘most finished, polished, witty; socially the equal of the most refined Europeans".
In England he was granted an honorary degree from Oxford — an unusual honor. for
a citizen of a young, uncultured nation — and he received the medal of the Royal
Society of Literature; America made him ambassador to Spain.
Irvings background provided little to explain his literary achievements. A gifted but
delicate child, he had little schooling. He studied law, but without zeal, and
never did practice seriously.
41. The main point of the first paragraph is that Washington Irving was ____ .

A. America$ first man of letters

B. a writer who had great success both in his own country and outside it

C. a man who was able to move from literature to politics

D. a man whose personal charm enabled him to be a successful lawyer
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A. the most refined European of his time

B. one of the most refined Europeans

C. refined, like most Europeans

D. not inferior to Euro‘peans of the highest refinement
43. Why might Irving$ literary ability have been surprising to the English?

A. They feared competition from American writers.

B. They did not expect the United States to produce good writers.

C. They disapproved of the language American writers used.

D. They thought of the United States as a purely commercial power.
44. What can be said about Irving$ law career?

A. It was so successful that he won an ambassadorship.

B. Irving began to practice law only late in life.

C. He was an expert on commercial law.

D. He spent very little time working as a lawyer.

Passage 2

In the water around New York City is a very small island called Liberty Island. On
Liberty Island there is a very special statue called the Statue of Liberty. It is one of
the most famous sights in the world. |
The Statue of Liberty was a gift from the people of France to the people of the
United States. The statue was made by a French sculptor named Frederic Auguste
Bartholdi. The inner support system was designed by Gustave Eiffel, the same man
who made the famous Eiffel Tower in Paris.
Liberty, of course, means freedom, and the Statue of Liberty was given to the

United States to celebrate the one — hundredth anniversary of U. S. independence
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then rebuilt in the United States. It was opened for the public on October 28,
1886.
As you might expect, the statue is very big. Visitors can ride an elevator from the
ground to the bottom of the statue. If they want to, they can then walk up the 168
steps to reach the head of the statue where they can look out and enjoy the
beautiful sight of the city of New York.
45. The best title for this passage is .

A. Famous Sights in the World B. Liberty Island

C. The Statue of Liberty D. Eiffel Tower
46. The statue was built

A. in France ’ B. in the United States

C. in England D. on Liberty Island

47. The man who designed the inner support system was

A. a French sculptor B. Eiffel
C. an American sculptor D. Bartholdi
Passage 3

An old friend of mine from abroad telephoned from the airport to tell me that he had
arrived. I was still at the office at the time. After explaining where my new flat
was, [ told him that I had left the key under the umbrella stand. Maybe I would be
home rather late, I advised him to go into the kitchen and help himself to food and
drink.

Two hours later my friend telephoned me from the flat in which he stayed. At the

moment, he said, he was listening to some of my records after having just had a
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chicken from the refrigerator. Now, he said, he was drinking a glass of orange
juice. When I asked him if he had reached the flat without difficulty, he answered
that he had not been able to find the key under umbrella stand, but fortunately the
living room window just by the apple tree had been left open and he had climbed
in. I listened to all this in astonishment. There is no apple tree in front of my
living room, but there is one in front of my neighbors.

48. The writer received his friend% telephone

A. at the airport B. at his office

C. at home D. on his way home
49. It took the writers friend __ to get to his new flat.

A. less than 2 hours B. more than 2 hours

C. 3 hours ‘ D. 3 hours and a half

50. The writer felt surprised after he heard his friends words because .
A. his friend entered the house from the back door
B. his friend entered his living room by climbing the apple tree
C. his friend got into his living room through the open window
D. his friend entered his neighbors flat by mistake

IV. Word Formations. (10 points, 1 point each)
Directions : Complete each of the following sentences with the proper form of
the word in the brackets ; and then write your answers on the Answer Sheet.

51. Most of the buildings in this town are rather unattractive, but this church is an

. (except)

52. His brought complete silence to the room. (arrive)

53. Please me of any change of address. (advice)
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58.

59.

60

Wete immensely ‘ to learn of your success. (exeite)
You have no but to obey the order. (choose)
He wears glasses because he has bad . (see)

He built up a successful business but it was all done at the

of his health. (expensive)

This troupe consists of five singers, ten dancers and fifteen

. (music)

A little car is flying to a bridge. (speed)

Jim took great in his gold watch. (proud)

V. Answer the Questions. (20 points, 5 peints each)
Directions ; There are 4 groups of simple questions in this part, which are

based on the texts you have learned. Give a brief answer to each of them. Your

answers must be to the point and grammatically correct. Write your answers on
the Answer Sheet.

61.

62.

63.

64.

What are the pardons sold by a pardoner in the Middle Ages? Why did people
want to buy these pardons? What is the purpose of the pardoner in selling these
pardons? (from The Decameron)

What was in the suitcase? What was Hogans plan to get the suitcase back?
Why didn“t their plan succeed? (from The Wrong House)

What did the young man attempt to do in the house? Whét was the old woman
doing when she was talking to the young man? Why did she do so? (from Lady
in the Dark)

Why did God decide to destroy all life on earth? Why was Noah spared? ( from
The Story of the Bible)
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